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MORE PEDIGREE CHARTS
1. The following diagram is a pedigree of albinism. A square represents a man and a circle a woman. White represents normal while shaded individuals are albino. 


Generation I




Generation II




Generation III


a) If individuals 3 and 4 had10 children, how many of them would be  expected to be   

       albinos? Why?

b) In Generation III, both individuals 8 and 9 were normal. Were they homozygous or heterozygous for A?

c) What genotypes would you expect among the offspring of the marriage between 8 and 9 and in what proportion?

2. The following diagrams show the pedigrees for the appearance of some human hereditary characteristics (shaded symbols). In each case determine if the inherited trait dominant or recessive or if this cannot be decided from the pedigree given?

A.





B.








C. 


D.









3. In humans, tongue rolling is determined by the presence of a dominant gene (R), whose recessive allele is represented by (r). The following represents a family tree for a number of individuals.










Squares represent males, and circles represent females. Black squares and circles represent rollers. White squares and circles represent non‑rollers.

      a. State the genotypes of individuals.



(i) 
1



(ii) 
3 and 4

(iii) 9

b. Individual 13 and his non‑roller wife have a daughter Alice who is a tongue-​roller.   

    Individual 21 has a son Tom who is also a roller. But her husband is a non‑roller.

i. Make a diagram to show the result of the cross between Alice and Tom. 

ii. State the ratios of the genotypes and phenotypes of offspring in the cross in (i).

iii. Why is it not possible to determine the genotypes of individual 14?

iv. If individual 5 marries a non‑roller woman, what is the probability that their first child is tongue‑roller?

4. A woman who has unusually short fingers marries a man who has fingers of normal length. They have four children, two of each sex. One of their sons and one of their daughters have unusually short fingers.

i. Draw the pedigree.

ii. If a single pair of alleles governs finger length, could the pedigree be explained by autosomal dominant inheritance?

iii. Is the pedigree consistent with it being an example of autosomal recessive inheritance?
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